SHTEE AHRERIAR
ifz B MENFER ELIENES B B B B
402079 e ] Wk S, StERKX S EE 600,000 2P - HoRPAER & 0
2
IREFKX S EE 0 TEIEEmE AFTSEE8. ) I 14,055
EREAXABIKRSHBAO (R2.1.11R7) 65,610 A o RERAD 0 s = 0
B EE KGR e -
(5BBKCHNZED) 0 Ja— EPE &P 1
BB AD " -
S G (SBBKEINBED) 0 SHERSH A 1
- W B T > R HOK KIS ER 0 - f— J—
— (5BBKCHNBED) 2% SR S 0
i 1,016,015 JHEBKAD 0 B i 1
B o ;.g En' (DBEBKICHDDED) I
B — - B TIKEE |MEEZPEKIER e T . N =S —
= m »09Y, (5BEKCHDZED) = A 6
o . REHAAD o .
T i ” Bk Somcipoes ’ AR i sl -
zots 7 0 ) - KT 0 . BEBEL 39
B sl T (5BEKCHDZED) = A
)\
sEE AT I t 129,685 mERAD 0 e T 7
mia INREESHEKNIRE KRR MES
2ot 0 RERKXIER 0 SERSS | A 33
N == bl 587 J=Za=5+« « JSVHMMEBAD 0 - G fE T 0
EBS | sppeps == F 587 SHRERLELEAD 15| |SOBD sEEas | A 0
BEEiER (MEM) 0 - MBI T hEER ERIE 0 EzjE (Bl 3
BEP ZN=j:0)
MEBIER (FhEF) 0 IBE St —EPSBISHASIINER | BT 0.0 SIS A 4
U MIBA D 10,615 | [MEE PN L Ladva e 0 B i 0
7 ety [z F3R¥%15
— FRIHINES 17,343 BRE | _memmsiims | sm 0.0 SEHEN | A 0
NIBHBES - _
Rz _,,  |[BEAD 65,265 sige o | PEINIITIHEER B 0 I it 3
- = FFEKIZ
FEMINES 18,668 =i —BiEIBHASIINEER | BFTE 0.0 BIEREHN A 0
I RENE 0 Z S R MBI TIhEER EFTE 0 - RIS & 1
55 2K8 —in = —)U
[ —yEHEsE of [ BANTAl_wmsmaaring | mens 0.0 BEBEN | A 15
K& #62
BRIk HhEINE 0 SEEA EIENAVAiEE EPTEL 0 REEIH— EBEETEL AT 3
H 4 A RE=D —
L T 0 TR | —uses e | 0.0 BEOR e i i
RIEHEKAD 12,310 - ISENSR | B IIhEER El3E 0 BROR BIEBEN A 0
SEhEEx
S BRI ER 7,060,000 SEMER | hEIR IR BT 0 BT fa T 119
S— EAER
RIE BRI ETE 4,051,600 WME | ThEAIIAESR BT 0 EETE ot 10,054
Bl == _
HERADBY | 1 |ES g |Crem |PETNIINES B 0 J— T GERD | i 1,236,772
TIEXR
TKEFE | NHTKBE IRTEARIMBIS 1 29 GEERE | of 270,897
NEME
HENER ST 7,060,000 Tt (58 | of 222,375
B E
BENEREE 4,051,600 - 2y GEER | of 622
BHEERENAD 12,310 e THIRRES Tih () uf 0
BHEKSHETREAAD 9,301 \ ZOMOES Tty (Hhid) i 0




